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n Paper Ve-rsi'on 2 A

Programming in C++

T1rne 1 hr ]

INSTRUCTI.QN§‘T0 THE CANDIDéfl\%ESf 5

- L Answer all the fifty quest1ons """ eaeh question carries one mark

kS 2. Use only Black ball pomt pen for writing / darkemng the circles.

" 3. For each questlon, af ‘ electing your answer, darken the approprlate c1rcle |

corresponding to ghe same question number on the OMR sheet.

4. Darkening two elrcles for the same questmn makes the answer invalid.

B kDamagmg/ ;erwrltmg, using Whlteners on the. OMR sheets are str1ctly-vv

prohlblted

an entity is known as-

1t iThe process of combining data and functional attributes

~a) Class b) Object ) Ir&hen nce d)f'iEneapsulaﬁ)n
2. is an instance of a ¢! b | _
a) Object b c) Functlon . d) Allof these

»»»»»»»

3. When the objects: of a class behave like a data type the class is known as

a) Abstract datatype b) Method ¢) Template ' d) Functlon e
_ 4. i _hides unnecessary things an ‘\Zreveals only those that the user needs to manipulate.
a) Inher1tance b) Abstra ) Polymorphlsm d) Class

5.  “The 1dea of extending an alrea ‘y deﬁned class isknown as
' a) Polymorphism  b).E; capsulation (

) Inheritance ~ d) Abstraction = -

N j«-Al_class with no ob‘]‘ﬁ“ ',,1s called as AT
- “a) Abstraction Class " : b) Inherited Class -
- -¢). Arrived Clags d) FriendClass - -

7. . is the“‘abllity of a single objee‘r to appear in many forms.

‘ Aa) Inheritance - b Encapsulation C) Abstraction - d) Polymorphlsm SN
- 8. Polymorph1sm is related to functions that behave differently with set of arguments

a)‘ Dynamic _b) Parametric c) Adhoc . d) Both(a) & (b)

9. * Function overloac ng is an example for , o
~a) Dynamic Po «ymorphlsm b) Parametric Polymorphism
) Adhoc Polymorphlsm d) Both (a) & (b)
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10. Identify example for runtime Polymorphism.

! a) Adhoc ' b Dynamic c) Parametric’ d) Both (a) & (c)
11. = refer to the name of variables, ﬁJnCthIlS a ys . classes etc created by the
programmer. , : ;
a) Keywords b) Constants c) Identlﬁers d) Strings

#

12, refer the fixed values that do not char Y«ge durmg execution of a program.
a) Varlable b) Identlﬁer '¢) String s d) .Constant

130 % - “operator can be used to uncover a hidden variable.

a) Ass1gnment o ¢) Arithmetic d) Scope resolution

14. expressions combine. two or more relatlonal expressmn and produces too type
: results. ~

a) Logicgl d) Integral

,,,,,

15, The operator + =is«¢ 1
" a) Assignment . k ) Scope resolutlon
‘c) Compound As&;gnment d) Addition

16 <
. a) Insertion. operator
¢) Scope resolution operator

b) Extractlon operator
d) Pointer; member declarator

17: ideﬁtify the invalid variable, ¢
¢ .ayal. . .. . b) da,, 0

18. Followmg line in the program is an example for
- Float volume (float x, float y, float 2) ;
- a) Function deﬁmtion b) Function call

e
Ay

19. Identify the relatlonal expression

i

¥ a) x<_w &

b) x+y 0) 2o-+~~5'/2.0 d) m*vn_,—’SK‘ iy

d) Constant

c) Virtual function d) Template

b) Parame:terlzed

o) Virtual L ) Single

s used to destroy the’ objects that have been invalid. - o o
);_COHSU'UC“)T e b) St ¢) Virtual function  d) Class™ "

. The name of -F - member functlon 18 preceded by a tilde s s T R
a) Constructor b) Destructor ~¢) Abstract functlon -d) _Vi‘rtu'al function
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- 25, A der1ved class with only one base class is called
S 3 -_a) Single Inheritance . b) Multlple nher1tance ;
,c) Mult1level Inherltance - d) Hybg w,nhentance T By

A class. can 1nher1t the attributes of two
- inheritance.
.:~‘a) Single =~ b) Multiple

b c) Multllevel

s ?27'_4 ‘The mechanism of derlvmg new class from an old one is called
S ) Inhentance b) PolymorphLSm ¢) Abstraction

R mherltance combination of rhany inheritaﬁees‘ ar
')}Si_»ng’le by Multxple ~ ¢) Hybrid °

. 29 Identlfy the correct state: regardmg to destructof _
‘a) Destructor never takes any argument b) Destructor does not return any Value
c) Destructor is a member function d) All of these B

30. In Inher1tanoe there 1s a single base class and multiple derived classes

a). Single “.7 " b) Multiple “ ©) Hierarchical d) Multilevel
31 »’l‘he‘ - class contains the details not needed for templatization.

a) 1os-base " b) basic _dos c) basic st m leaf = d) basic_upstream

3f2l A file can be defined in ____ possible types.
- a), 1 ' ' b) X
"33, If stream opens a filein . mode T
' a) read » . b) write d) append
34. fstream opens a mode. ‘ T
. a) read - b) write d) append, .
35, 7 funcmon is useful for W:iflng to files charact B
w7 F () d) string
‘write() byt Y pet() " T Ay off -
is useful foi‘yqi;eadmg entire lines. ‘ el
a) getline ()~ b) get () ) ¢) put ()’ d) set() e
. 38 : ~ provides the mechanism to access the stream using lower level funct10ns
: a) ‘basic_stream leaf b) basw ostream c) basic_iostream - d) bas1c_1os .
- - 39‘.‘ ' function is used mg,thoutany arguments to close a file. " 40
"~ a) put() b get () c) close () . d) write ()
40, ~__function is tised for reading files character by character. ST
' - a) put() ) "~ b) get() ¢) putchar () d) gets()
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41.
42.
44.

45.

46.

- 47.

48.

49.

50.

i)
a) Synchronous b) Asynchron

| c) Throw the exceptlon "

~a) catch b) try

a) Try b) Throw
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The errors that are caused by events beyond the control.of t tr ‘program are called as _

a) Synchronous exception b) Asynchroj’“‘ous exception
¢) Both(a) &(b) = ~ d) None of these_
Exceptions are of kinds. -
ER ) S b) 2
Errors such as out of range index and over ‘ow belongs to excep};rons

“'¢) Both (a) & (b) ) d) None ofzthese

nerate exceptlons T
. d) Thrown

is used to prepare a block of' Stz tements which may ge

a) Try c) Throw

C++ provides mechanism for handling exceptions.

. a) Synchronous b) ‘Asynchronous c¢) Both (a) & (b) d) None of these

Taking corrective action means
“b) Hit the exception
‘d) Catch the exception

Ct+ exceptmn handling mechanism is basically built upon __ keywords.
a) 1 L% b) 2 c) 3 d) 4

block.

C++ exception handhng mechanlsm is built 1 upon followmg keywords
d) Allof these

a) Try c) Both (a) & (b) d) None of these
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